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2.5 One-Dimensional Motion with Constant Acceleration

12.)  Write the formula with the given terms: final velocity, initial velocity, acceleration, and

time.

13.) Solve each.

a) Find the final velocity with the following parameters.
v, = 40.0m/s a =2.00m/s*> t = 12.0s

b) Find the final velocity with the following parameters.
v, = 280m/s a = 3.50m/s*> t = 4.50s

Find the initial velocity with the following parameters.
vp = 16.0m/s a = 1.50m/s*> t = 6.00s V_,C

Ve =V ¢ "‘ﬂ/t
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d) Find the acceleration with the following parameters.
v, =240m/s v, = 180m/s t = 3.00s

14.)  Write the formula for average velocity (with constant acceleration).

15.) If the acceleration_is constant, find the average velocity under each of the following
—/

conditions:
a) v, =33.0mls v, = 15.0m/s

S

v, = 60.0 m/s v, = 72.0 m/s
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16.)  Write the formula with the given terms: final position, initial position, final velocity,
initial velocity, and time.

pos hm
17.)  Find the final #&#€ty under each of the following conditions:

@ v, =260m/s v; = 140mls x; = 450m ¢t = 4.00s

Xp= X4 Ji(VL ‘Wc)‘f:
qﬁ,om + (abems + 14.0m; ) (4-005)
4 + i_( 4o) Y

YC+ 8o fllZS‘M?

b) v, = 16m/s v, = 28m/s x; = 80m t = 65

18.)  Write the formula with the given terms: final position, initial position, acceleration,
initial velocity, and time.



19.)  Find the final position under each of the following conditions:

X4
xl. =520m v; = 850m/s a = 2.00 m/s> t = 8.00s

Xe=X; 4 vf-bLsz
sl —

52.0m + (6 o+ ) 8.005) + é{z w‘“/),éoos)
52 4+ L8 + G

126 + LY :11945?

b) x;, =240m v, = 125m/s a = 3.50m/s> t = 6.00s

c) x; =350m v, = —2.50mls a = 4.00m/s> ¢t =3.00s

20.) Write the formula with the given terms: final position, initial position, acceleration,
initial velocity, and final velocity.



QOQIF""‘

21.)  Find the final vetasity under each of the following conditions.
Y
x; =30.0m v, =100m/s v, = 15.0m/s a = 2.00 m/s?

(Vs R ORE >1<} X;)

@o,o’);q—: ( )§.0'z)z+ 2 200 %)( Xp - so.om)

|00 = 225 + "f(X_c_Pio)
Joo= 2265 4 L\)(_c"lz(b

bo_= |
f—l(oS' —l1¢§‘\— Ll’('f 5
b) x; = 550m v, = 22.0m/s v. = 120m/s a = 3.00 m/s
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